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) Write each snswer on a new page.
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Details

Attempt the Following Questions:

What is thrashing.
a) A high paging activity is calied thrashing
b) A high executing activity is called thrashing
c) A extremely long process is called thrashing
d) A extremely iong virtual memory is called thrashing

What do you mean by Mernory Compaction
a) Combine multiple equal memory holes into big hole

b) Combine multiple small memory holes into big hole
c) Divide Big Memory hoie into small holes

d) Divide memory hole by 2
Vifiual Merr-rory is typically located at

a) RAM

b) CPU

c) Flash Card

d) Hard Drive
Memory Allocation Infonr-ration for a process is stored in
4.... "..

a) Page Table
b) Frame Table
c) Pages

d) Frame List
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co4 1,25. Which olthe fbllor'ving file attribute a infonnation is a pointer device
and to the location of the file on that device

a) Narne
b) Size
c) Time ,date and user Identification
d) Location
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6. has the lowest fault rate of all the page replacement
algorithms"

a) Optirnal page replacement algorithm
b) LRU replacement algorithrr
c) FIFO
d) Counting based

7 . The heads of the magnetic disk are attached to a that moves all
the heads as a unit.

a) Spindle
b) Disk Arm
c) Track
d) None ofthe above

8. The tin-re taken for the desired sector to rotate to the disk is called
a) Positioning Time
b) Randon.r Access Time
c) Seek Time
d) Rotational Latency

9. Ila page number is not found in the translation lookaside buffer. then
it is known as a?

a) Translation Lookaside Buffer miss
b) Buff'er miss
c) Translation Lookaside Bufler hit
d) Allof the mentioned

10. Which of the following virtualmachine is used by the Android
operating system

a) iVM
b) Dalvik virtual machine
c) Simple virlual machine
d) None olthe above

Q.2 Attempt the following questions

l. The instruction being executed, must be in

2, Define KenTel.

J The directory can be viewed as a _ that translates flle names
into their directory entries

4. Virlual memory allows
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Attempt (Any 5) from the following questions.

Explain swapping in operating system with diagram and suitable
example..

2. Give diffbrence between External
fragmentation

fragmentation and Internal

3. Describe concept of file, its types and operations on file attributes in
detail.

4, Explain Demand Paging with neat diagrarr

5. Explain Android Architecture Frarnework with diagram .

6. Explain Paging and Segmentation with suitable exarr.rple and diagrarr-r
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7 Consider a disk queue with requests for I/O to blocks on cylinders 98,
783, 41, 122, 14, 124, 65, 67.The FCFS scheduling algorithm is used.
The head is initially at cylinder number 53. The cylinders are
numbered from 0 to 199, The total head movement (in number of
cylinders) incurred while servicing these requests are?

* * * * * * )* + * * * * End of Question Paper* * * * * + * * * * * *
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